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Page Line/Item Text Comment/Should be

11 Exercise 1.2.1 (1)  “a single point in R™” Should be “a single point in R?”

12 Exercise 1.2.6 “containing p” Should be “such that p e V C U”

13 Exercise 1.2.17 “be a closed set” Should be “be a non-empty closed set”

18 1. 13 “fi=fom” Should be “f; = m; o f”

24 1.6 “f is surjective” Should be “q is surjective”

27 L7 “iy ..t €{1,...,p} Should be “iq,...,i, € {0,1,...,p}

27 Exercise 1.4.9 We need to assume that X; and Y; are both
open or both closed in X; UY; for i =1, 2.

28 L. -3 “B N [by,be)” Should be “B; N [b1, be]”

39 1. -6 “la,y)” Should be “[a,y]”
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1. 17
1.3
1. 13

Exercise 2.6.2

1.6

1.2
Figure A2.2.7(i)
Figure A2.2.7(i)
L-7
l.-5

Exercise A.2.2.1

Exercise A.2.2.2

1. -5
1. -15

1. -14

“q: D N Q77
¢4A2.177

¢4K2 #PQ,
TQ#TQ”

“k times” in two places

“k times” in two places
— —

WT) = T

“D477

“a477

“1.5.11”7

“1.5.6”

“p tO q77

“{ao, . ,ai}”

“A face of o that is a k-simplex

is called a k-face”

“SL={z e R¥| ||z < 1}
“affine linear take”
“Exercise 3.3.6”

“Exercise 3.3.6”

K?# K? and

Remove “containing B”
Should be “q: D — X7
Should be “A2.2”

Should be “K?2# P? and K2 # K?”

Should be “d times” in both places

Should be “d times” in both places

_

Should be “A(z§) = h(x)h(y)”
Should be “D,,”

Should be “a;”

Should be “1.6.11”

Should be “1.6.7”

The number of the Exercise should be
“A2.2.17

The number of the Exercise should be
“A2.2.27

Should be “v to w”
Should be “{aq, ..., a;}”

Should be “A face of o that is an i-simplex
is called an i-face”

Should be “S*~1 = {z e R* | ||z| = 1}”
Should be “affine linear map takes”
Should be “Lemma 3.3.4”

Should be “Lemma 3.3.4”
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Exercise 3.3.8
1. -14

1. 10

Exercise 3.5.5

1. 4

1. 6

1.7

Corollary 3.7.3

1. -1
1. 11
. -7
1. -2

Exercise 4.3.1 (ii)
Exercise 4.3.3

1. 14

I -12

Exercise 4.3.11

“nNInto # (7 in two places

“that is simplicial complex”

“If P is a 2-dimensional cell

complex”

“ § 2

nv

113 E 9

nv

“ § 2

nv

“Let K be a 2-complex”
“f’?

“is subsequent”

uh/(s) — 1/q/(8)77
“tIlnt —¢t”

“smooth curve”

“chose”

Should be “Int nNInt o # (7 in both places
Should be “that is a simplicial complex”

There should not be a line break in the
middle of “|star(w, K)| — {w}”

Should be “If P is a 2-dimensional cell
complex such that |P| is a topological sur-
face,”

Should be Z
nov

Should be “Z”

nov

Should be Z
nov

Should be “Let K be a simplicial surface”
Should be “r”

Should be “in subsequent”

Remove one “definition”

Should be “h'(s) =1/q'(h(s))”

Should be “tInt”

Should be “regular curve”

Remove the second “would”

Should be “choose”

Hint: Use Exercise 4.2.1; let G be as in
Exercise 4.2.1, and then note that (Goc)™!

is smooth, and that ¢'oé¢ = (Goc) "toGo¢,
and this latter expression is smooth
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208

1. 16
1. 19

Exercise 4.7.1

Exercise 4.7.1 (ii)

Exercise 4.7.3

L. -11

Figure 5.2.2
Figure 5.2.2
1. 2
1. 3

1.5

« g”(t)’ ”

“the claim”

“the claim”
“loose”
“counterclockwise”

“is clockwise”

“RB”

“rank 2, and hence D(x o ¢)
has rank 2.”

“A 7

T

“ 2
Ay

“Axl”

“ ”
Ay

“Axl ”

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

“C// (t) — 0 ”

“Cl(t) X C”(t) — 0 9

“ g”(t), b
“Exercise 4.6.2”
“Exercise 4.6.2”
“lose”
“clockwise”

“is counterclockwise”

This exercise needs the formula computed
in Exercise 4.7.3

Should be

“R2”

Hint for Exercise 4.7.3: Start as on p. 191,
and obtain a formula for ¢’ (t) in terms of T
and N. Then take the inner product with

()

Should be

“rank 2. Because D¢ is a 2 x 2

matrix, it follows that D(x o ¢) has rank

2"7

Should be

Should be

Should be

Should be

Should be

“Amy”
113 7
Ay
“Axlyl 7
113 7
Aylxl

“Axlyl ”



208

212

213

216

220

224

226

227

227

228

229

233

234

234

235

235

239

242

Proposition 5.2.5

1. 2

1. -1

1. -10

Equation 5.4.1

. 4
1. 8
Exercise 5.4.5
l. -7
Exercise 5.5.4

Exercise 5.5.6

Exercise 5.5.7

l.-11

1. -8

Lemma 5.6.6 (iii)

Exercise 5.6.1

“in M”

“smooth surfaces”

“missing the north and south

poles”
“F_ 1 (a) 2

“a curve”

“x2(t’ 0)77

“n iS a77

“the basis B”

w1482 5
t2)

“1 4 827—2(8)”

Rcostcosf
Rcostsind
Rsint

[13

“(a’ b)77

“xfl o C(t)”

“(Vof)Z(p) + F(P)(Vu2)

G 1) 29
p=(j)es

Remove “and let p € M be a point” from
the statement of the proposition

Should be “in N”
Should be “smooth surfaces in R3, where

we think of U as sitting in the z-y plane in
RS)?

Should be “missing half a great circle from
the north to the south pole”

Should be “F~!(a)”

Should be “a smooth curve”

Should be “xa( (é) )”

Remove “such that p € x(U)”

Should be “n as a”

Remove this exercise

Should be “the given basis”

Should be “1H£~

Should be “1 + t272(s)”
costcosf

Should be “| costsinf |”

sint
Should be “(—e¢,¢€)”

Should be “z~!oc!(t) and 27! o c?(t) re-
spectively”

Should be “(V, f)Z(p) + f(p)(VsZ)”

Should be “p — (g) € S' xR



242

242

245

246

247

249

249

Exercise 5.6.1

1. -10

1. 12

Equation 5.7.4

“T,S 1'% R” in two places

(i)

“we turn tangent”

v = (WE2mp)

Should be

Should be

Should be

Should be

Should be

Should be

Should be

“T, (51 X R)” in both places

a(5)
“x5(D), Vayp)2s)”

Ou; 8Uj Oul
Ogj2 | dgiz _ 09ij

Ogj1 | 9gi1 _ 994
13
Du; T Ou; T Duy

“we turn to tangent”

>,,

“v = V2x1(p) + V2x2(p)”

“’Ul — U2 — \/577



250 1.2 The displayed equation is:

“V, 7 = ZZ(— 0+Zr —Z’ )) 24(P)

k=1j=1

Y2 2(5) 2(p)

V2 22(5) an(p) + () 5

=T'%(p) 5

+15:() ? 7*(p) x2(p)

—V/2/2 0
;\fl< 0 )4_(1)‘2—.0.(\/5/2)
V2/2 0

0 —1/4
+(1)‘f-1-<\/§/2)( 1/2 ) o
0 1/4

The displayed equation should be:

[\

“V,Z = ZZ([ 0+Zr Z(p)) wx(p)

=T'3(p) V22*(p) « (’)+F12(ﬁ)\f2 (P) z2(D)
+T3,(0) V2 Z*(p) x2(p)

) —V2/2 0
2\/5-1-< 0 )+(1)\/§-0-<\/§/2)
0

V2/2
0 —1/2
+(=DV2-1-| v2/2 | = -1 |. ¢
0 1/2
255 1.7 “Exercise 5.5.4” Should be “Exercise 5.5.5”
258 1.-14 “F(W)? Should be “f(W)”
259 L7 “p such that” Should be “p such that”
259 1.8 “W = f(T)c M” Should be “W = x(T) C M”



260

260

261

261

262

263

263

263

274

274

277

277

281

283

284

284

285

285

1. 14

Exercise 5.9.3

Exercise 5.9.6

Exercise 5.9.8

1. 3

1. 4

“f o x has rank 2”

“local isometry”

“xl >< x277

uRZn

“3 X 377
Y

“plane that contain’

“Ur,pr: U — TpM”

“I I77
“k(s) + t2k(s)T2(5)”
“oriented”

“smooth curve such

ca((—e€,€)) is an open subset

of QN M and ¢cq(0) = p,”

“I Ip77

“I Ip77

Should be “as z|V?”
Should be “D(f o x) has rank 2”

Should be “local isometry, where we think
of R? as the 2-y plane in R3”

Should be “(f ox); x (f ox)y”

Should be “R? — {O3}”

This exercise uses Exercise 5.9.8

Add “and that d(1ar), = I, where 1y is

the identity map on M and [ is the 2 x 2
identity matrix” at the end of the exercise

Should be “3 x 3 matrix”
Should be “plane that contains”

Should be “Ilg,p: U — T, M”

0
1 1
houl [—— 1 — a7
Should be 7 : Rv

Should be “IT”

Should be “k(s) + t2k(s)T2(s) — t7/(s)”
Should be “ordered”

Should be “smooth, unit speed curve such
that co((—e€, €)) is an open subset of QN M,
that cq(0) = p and that ¢{,(0) = vg,”
Should be “—((72 0 cq)'(0), c(0))”

Should be “IT,”

Should be “IT,”
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296

298

302

302

311

312

314

318

320

324

324

324

324

324

1. 5

l. 6

1. -3

Figure 6.3.2 (i)
Exercise 6.2.6
Exercise 6.2.7*

1. -10

Equation 6.5.6

1. 4

1.7

Example 7.2.1 (1)

1. 13

“eigenvalue”
“I Ip’?
“2 (k1 — ko) sinf cos 0”

“K (p) < 0’7

“Theorem 6.6.2”

448 Fgl 9
8’U,12

“The f is”

“We want find”

“Section 7.3”

“c: (—e,€) = U”

b
“/ 2
a

D) 17

“assume that %(so) > 07

“Dils(s) (80) > 077

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

“eigenvector”

“I1,”

“2 (kg — k1) sinf cos0”
“K(p) =07

“Exercise 6.3.6”
“Exercise 6.3.7*”

“Theorem 6.5.2”

T
« 0 F21 9
8uQ

“ t ”
0
“The map f is”

“We want to find”

“C’Jﬂ

“Section 7.1”

P2 (o)l # 07

“hence || 226 (50)]| > 07

Drop “the other case is similar”

Should be

“

D¢ (s 9
129 (5)[| > 0
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325

325

326

332

332

335

344

347

347

352

358

366

373

373

385

400

400

400

405

1. -13

Equation 7.3.4

Equation 7.3.5

1. 11

1.1

1. 3

1.1

1. 14
Figure 8.4.2

Figure 8.4.2

1. 14

“expp(ng (03, T,M))”
“expp(0s, (03, Ty M))”
“J,(B)"

“geodesic”

higher “D1(z%)”

lower “D;Y(z%)”

“ § 2

ov

“find surfaces”

“vertical line”

“vertical line”

“f1,..., k)
Do
Do
Do

“4.2.5”

10

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

“expy(0s, (03, T,M))”
“equ(O(gp (O3, T,M))”
“Jp(B)’

“non-constant geodesic”
«D=1(z7)

“D; " (z)"

“ § 2

ooV

“find such surfaces”

Remove the line break

Should be

Should be

Should be

Should be

Should be

Should be

Should be

“horizontal line”
“horizontal line”
“0,...,k}"
44D27>

44D27>

44D27>

“4.2.47



405

405

406

406

408

408

408

410

414

418

“h(d,e)(a,b)”
“h(t) # 07

“a curve”

Yo = (—ul?
“pA—
“(dyp) ™ (o)
wr >

“Exercise 6.5.2”
“asimplicial”

“Kline bottle”

11

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

Should be

“h: (d,e) — (a,b)”
“h/(t) ?é 077
“a smooth curve”

N = (=gw)lI”

“6.2.7.7
“Exercise 6.5.1”
“a simplicial”

“Klein bottle”



